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QUESTION 1

Which two statements are true about Query agents? (Choose two.) 

A. Query agents can have channels and destinations. 

B. Query agents can execute rule functions but not rules. 

C. Query agents can execute rules, not rule functions. 

D. Query agents can have channels, not destinations. 

Correct Answer: AB 

 

QUESTION 2

Which statement is true about rules? 

A. To assert a new set of concept instances it must be returned as arrays of objects from a rule 

B. Executing a rule action may prevent the execution of other rules matching the criteria. 

C. Returning an event instance from a rule sends the event to its default destination. 

D. All rules matching the conditions at the given time will be triggered in parallel. 

Correct Answer: B 

 

QUESTION 3

Which two statements are true about fault tolerance cache object management? (Choose two.) 

A. Cache agents without backing store require the property Number of Backup Copies > 0. 

B. Setting the number of backup copies to 0 distributes a copy of each concept to all active Cache agents. 

C. Limited cache size requires backing store for fault tolerance. 

D. TIBCO BusinessEvents DataGrid must use multicasting for fault tolerance. 

Correct Answer: AC 

 

QUESTION 4

Which two statements are true about event preprocessors? (Choose two.) 

A. Event preprocessors are multithreaded. 

B. Consuming events in a preprocessor are not allowed. 
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C. Existing concepts can be modified in the preprocessor. 

D. Event preprocessors are rule functions with one argument of type simple event 

E. Event preprocessors are used for Time or Advisory events. 

Correct Answer: AD 

 

QUESTION 5

A retail company must provide seasonal promotions to its customers. The rules used for the promotions are very
dynamic and need to be enabled/disabled by a non-technical employee (i.e., a front end clerk). 

Which TIBCO BusinessEvents add-on should you use to implement the requirement? 

A. Decision Manager 

B. Business Rules 

C. Business Studio 

D. Data Modeling 

Correct Answer: A 
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